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Homework questions Mohit.. 21 hours ago
Lcm of 6,7,8,9and 12=504 . T ) — :
e <% Thank-you Sir for this Wonderful Class Session of today.. ;- 2
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S0 504+1 =505
2. P(r/100 )ka squre

96=15000%(r/100)ka square My Answers for today's Homework are like-

R ka sgaure =64 4% g
e ). Option 4- 305,

LCM of 6,7,8,9,12 =504,
Soumen Sinha 22 hours ago ' ' c L q =
. Least no. With remainder 1= 504+1 505.

First Question Answer

2). Option 1- 8%,
96 = 15,000(R")/100*100.
Only option 505-1= 504 is divisible by 9 R=8%
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Option D- 505

Second Question Answer

Option A= 8% Thank-you So Much, Sir ji.. 2
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Find the least number which when divided by 6, 7, 8, 9 and 12 leaves the same *
remainder 1 in each case?

ITd BIfve oA 6, 7, 8, 9 3R 12 A fauvsa FA W
1 3gd1 282

A
T BRI




The difference between compound interest and simple interest at the same rate of interest R
percent per annum on an amount of Rs. 15,000 for 2 years is Rs. 96. What is the value of R?
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Find the least number of complete year in which a sum of money put out at 30% CI
will be more than double ?
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Applied to a bill for Rs. 1,00,000 the difference between a discount of 40% and twcg
successive discounts of 36% and 4% is ?
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1) Nil
| 2)Rs. 1,440

3)Rs. 2,500
4)Rs. 4,000
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The product of the LCM and HCF of two numbers is 24. The difference of the two
numbers is 2. Find the pumbers ?

&l T3 & LCM 3R HCF BT UMW 24 g1 G Smsil &7 3idr 2

BT JTd HioTe?

1)8 and 6
11 2)8 and 10

3)2 and 4
4)6 and 4




Two pipes can fill a tank in 12 hours and 15 hours respectively and third pipe emptyitin 6 hours.
If first two pipes opens for 5 hours and then third pipe also opened then find in how many hours
the tank will empty?
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56 liter mixture contains 80% milk. How much liter of water must be added to
malntaln 70% of milk?
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A shopkeeper promises to sell its product on 10% loss but uses 30% less weight then

tell overall proflt percentage
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The price of rice has increased by 20%. Lalu has decided to spend only 8% more than what he
|n|t|aIIy did on buylng rice. What is the percentage decrease in Lalu's rice consumption?
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A train takes 18 sec to pass through a platform 162 meter long and 15sec to pass another
platform 120 meter Iong Then find the Ienh of train?
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Fresh fruit contains 68% water and Dry fruit contains 20% water. How many kg of dry
fruit can be made from 200 kg fresh fruit?

T




*Crion ©

o

-
Cl I I

if D and E are points on the sides AB and AC respectively of a triangle ABC such that DE| | B
AD = x cm, DB = (x-3) cm, AE = (x + 3) cm and EC = (x - 2) cm, then what is the value {in 1%1;) of x?
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A container contains some milk. If 16 liter of milk is taken out and replaced with water. If th|s
process is repeated three times more then the ratio of milk and water become 16:65. then find

the initial quantlty of mil
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